SOLUTION
WORKSHEET - DAY 13

Question 1:

Two fathers and two sons go fishing. Each of them catches one fish. So why do they bring
home only three fish?

Answer: The fishing group comprises a grandfather, his son, and his son’s son. So, there are
just three people.

Question 2:
Find the relationship in the series J, F, M, A, M, J, J and what alphabet comes next?

Answer: The alphabets are the initials of the months in a year. The next letter would be A
for August.

Question 3:

Imagine that you need to put a ball into an empty container and then insert a cork into the
neck. Is there a way to remove the ball without taking out the cork or breaking the
container?

Answer: Push the cork into the container and hold the container upside down to let the ball
out

Question 4:

How many times can you subtract the number 5 from 35?

Answer : Once.

After the first calculation, you are subtraction 5 from 30, then from 25 and so on.
Question 5:

A woman had two girls who were born on the same hour of the same day and yet they
aren’t twins. How is this possible?

Answer :

They were two of a set of triplets.
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